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Int a=45 ,b=18;
While( a%b !=0}(
Int c=a;
a=b;
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cAgllial) ALicay)
1 -Write function to merge two single dimensions arrays
2 -write the function to rotate the array for example [1,2,3,4,5,6] it rotate
by two becomse [3,4,5,6,1,2] and don't copy the same example
3 -Query by SQL
4- write the four professional attributes for the software
5- write pseudo code for finding Larger by divide and conquer
ade » i JUa el g j]lustrates bubble sort -6
ER 4au ) 4l sa Jyshall J)sud) -7
STC J s~ -8
UDP 5 TCP o 34 -9
plan-driven s agile o= 34 -10

B 5 A (ks daic J)J@(STC) e - 11

bandwidth 1000kbps skm ©+ agin Jshll
GB Y+ 4eas caldl

B Oleall cu Jal I ) o Jal ldie <l g (3 iy oS

i Y de
AN %3

worst case oe Sl WAl &6 12

13- A prototype is an initial version of a system used to demonstrate
concepte and try design options.(s_Lisl)

14 The main drawback of the waterfall model is the difficulty of
accommodating change after the process is underway. In principle, a
phase has to be complete before moving onto the next phase. (ki)

Good software should deliver the required functionality :4 J) s <l s -7
and performance to the user and should be maintainable, dependable and
.usable

(Aaanaa JIsad) 13gd 4l Clla) 448)
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Programming language C J) & _jaie (ga3e )++¢ Al aa -
sortingd) <l ) ) 53 (s23e -
html , php, css , java secret G G4 -

) Network

TCP/ Ip &5l il -

OSI J) <lisa g -

protocold! s networkd! & )= -

Hub /48 5 Jaxy (25 physical layer -

s Network classes
LS 5 (gl AU (e Jy g

(

Data base
Er diagram ' 415~ schema Sql table -
Uml sequence diagram s Jwes!) ATM -

Data structure
( linear , non linear) -

BALAN £ 8. (5 8l o) daala - s agle (awads — BaleY) LA

1- You have 10 users plugged into a hub running 10Mbps half-duplex.
There is a server connected to the switch running 10Mbps half-duplex as
well. How much bandwidth does each host have to the server?

A. 10 Mbps
B. 100 kbps
C. 2 Mbps

D. 1 Mbps
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2- What 1s the main reason the OSI model was created?

A. To create a layered model larger than the DoD model.

B. So application developers can change only one layer's protocols at a
time.

C. So different networks could communicate.

D. So Cisco could use the model.

3- How long is an IPv6 address?

A. 32 bits
B. 128 bytes
C. 64 bits
D. 128 bits

4- Which of the following does NOT use a 'Cryptographical Technique'
to protect data?

a. the use of digital signatures

b. data encryption

c. the use of stored encrypted password files

d. using asymmetric keys at 'sender' and 'receiver' nodes

5- Which of the following is the primary cause of 'invisible' damage? (i.e
damage is of unknown extent).

a. viruses

b. computer misuse

c. computer fraud d. theft

6- Why are traditional authentication methods unsuitable for use in
computer networks?

a. they do not use cryptographical techniques

b. they do not permit high speed data flow

c. they use passwords

d. they are incompatible with the internet
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7- What can a firewall protect against?

a. viruses

b. unauthenticated interactive logins from the "outside" world
c. fire

d. connecting to and from the "outside" world

8- What is the main purpose of access control?

a. to authorise full access to authorised users

b. to limit the actions or operations that a legitimate user can perform
c. to stop unauthorised users accessing resources

d. to protect computers from viral infections

9- Which of the following is NOT a good property of a firewall?

a. only authorised traffic must be allowed to pass through it

b. the firewall itself, should be immune to penetration

c. it should allow for easy modification by authorised users

d. traffic must only be allowed to pass from inside to outside the firewall

10. In the ................. traversal we process all of a vertex’s descendants
before we move to an adjacent vertex.

A) Depth First

B) Breadth First
C) With First

D) Depth Limited

11. In general, the binary search method needs no more than ................
comparisons.

12- which of the following like taylor polymorphism ?

13- WLAN is used to ?
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14- What are step-by-step approaches to solving problems called?
A. Science
B. Technology
C. Scientific Method(s)
D. Inference(s)

E. Constant(s)
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1) if A={0,2,3,8,9} , B={1,2,8}
a. B-A= {2,8}

b. B-A= {1}

c. B-A=A-B

d. B-A= {}

2) Convert from 110111 to hexadecimal
Answer 1s 37.

3) what is output of the following code:

int [] arr=new int []{1,2,3,4,5,6,7,8,9,10};
int n=5;

n = arr[arr[n]/2];

n=4;

System.out.print(arr[n]/2);

answer 1s 2

4) what return value if f(5)

public static int f(int n){
if (n==1) return 1;
if (n==2) return 2;
if (n==3) return 3;

return f (n-1)+ (n-1);

answer is 10

5) what is correct after executing the following code:

Rectangle r1 = new Rectangle ();
rl.setColor (Color.blue);
Rectangle r2=rl;
R2.setColor(Color.red);

a.rl is red, r2 is blue
b. rl 1s blue, r2 1s red
c.rl isred, r2 1s red
d. rl is blue, r2 1s blue
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6) is a relationship ------------- and has a relationship ------------ in OOP:
a. Composition — inheritance

b. polymorphism — inheritance

c. composition — polymorphism

d. inheritance — composition

7) Software project management comprises of a number of activities whic
h contains --------- .

a. Project planning

b. Scope management

c. Project estimation

d. All mentioned above

8) Which of the following is not defined in a good software Requirement
Specification (SRS) document?

a. Functional Requirement

b. Nonfunctional Requirement

c. Goals of implementation

d. Algorithm for software implementations

9) Which design identifies the software as a system with many componen
ts interacting with each other?

a. Architectural design

b. High-level design

c. Detailed design

d.BothB & C

10) Effective software project management focuses on the four P's. What
are those four P's?

a. People, performance, payment, product

b. people, product, process, project

c. People, product, performance, project

d. All of the above
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11) If requirements are easily understandable and defined then which mo
del is best suited?

a. Spiral model

b. Waterfall model

c. Prototyping model

d. None of the above

12) In asymmetric key cryptography, the private key is kept by
a) sender

b) receiver

c) sender and receiver

d) all the connected devices to the network

13) What is data encryption standard (DES)
a) block cipher

b) stream cipher

c) bit cipher

d) none of the mentioned

14) in complete connected graph, number of vertices are 10
a. 10 edges

b. 100 edges

c. 90 edges

d. 45 edges

15) What is time complexity of fun()?

int fun(int n)
{
int count = 0;
for (int 1= 0; 1 <=n; 1++)
for (int j = 0; j <=n; j++)
count += 1;
return count;

}

a. O(n log n)
b. O()

c. O(n)

d. O(log n)
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16) Dynamic RAM consumes ----------------- Power and ----------------- re
ad and write cycle then the Static RAM.

a. more, faster

b. more, slower

c. less, slower

d. less, faster

17) Which data structure is FIFO
a. Binary search tree

b. Stack

C.

d. Queue

18) Which of the following data structure, search complexity in average c
ase is O(1)

a. Binary search tree

b. Stack

c. hash table

d. Linked list

19) Which of the following data structure has lowest insert complexity:
a. hash table

b. Queue

c. Binary search tree

d. KD tree

20) which of the following sorting algorithms has the highest worst-case
complexity:

a. Quick sort

b. Merge sort

c. bubble sort

d. All of them equal

21) The field used to detect errors over the entire user datagram is
a) UDP header

b) Checksum

c¢) Source port

d) Destination port
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